2025 Booklist



Wynnum State High School Year 7

Pencil Case Items

It is recommended students have TWO fully stocked pencil cases. One to be kept in their school bag and the other to be kept at home for homework purposes.

Students also require device appropriate Headphones.

| | | Sp | pecified | Order | |
|---|---------|-----|----------|-------|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Pencil Case Tartan 340 x 170mm | \$3.02 | 1 | \$3.02 | | |
| Coloured Pencils Micador Basics 12's | \$2.95 | 1 | \$2.95 | | |
| Highlighter Wallet of 4 (Orange Yellow Pink Green) | \$3.80 | 1 | \$3.80 | | |
| Glue Stick Osmer 40g | \$1.90 | 1 | \$1.90 | | |
| Scissors QSV 165mm Right Handed Micador OR | \$1.79 | 1 | \$1.79 | | |
| Scissors Left Handed Micador 165mm | \$2.90 | 1 | \$2.90 | | |
| Pen Ballpoint Medium Black | \$0.29 | 3 | \$0.87 | | |
| Pen Ballpoint Medium Red | \$0.29 | 3 | \$0.87 | | |
| Pen Ballpoint Medium Blue | \$0.29 | 3 | \$0.87 | | |
| Pencil HB Staedtler Raw Single | \$0.50 | 3 | \$1.50 | | |
| Ruler WOODEN 30cm Unpolished | \$0.70 | 1 | \$0.70 | | |
| Eraser Micador Large 3020 | \$0.39 | 1 | \$0.39 | | |
| Micador Metal Sharpener SINGLE Hole with Barrel PCR (post consumer waste) | \$1.54 | 1 | \$1.54 | | |
| Calculator Scientific Casio FX82AU Plus II 2nd Edition | \$42.00 | 1 | \$42.00 | | |
| | Total | | \$65.10 | | |

English

You will require your iPad with Keyboard Case for this subject.

| | | | Specified | | Order | |
|--------------------------------------|--------|--------|-----------|-----|-----------|--|
| Product | Price | Qty | Amount | Qty | Your calc | |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 2 | \$2.84 | | | |
| | Total | \$2.84 | | | | |

Mathematics

You will require your iPad with Keyboard Case for this subject.

| | | | Specified | | Order |
|--------------------------------------|--------|-----|-----------|-----|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 4 | \$5.68 | | |
| | Total | | \$5.68 | | |

Science

You will require your iPad with Keyboard Case for this subject.

| | | | Specified | | Order |
|--------------------------------------|--------|-----|-----------|-----|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 2 | \$2.84 | | |
| | Total | | \$2.84 | • | |

Health and Physical Education

You will require your iPad with Keyboard Case for this subject.

2 x Sports uniform, sports shoes and hat.

When students are participating in swimming:

- Boys are to wear togs or board shorts
- Girls are to wear one-pice togs with option of board shorts over the top
- All students should wear a sun-shirt or T-shirt for sun protection in the pool
- Towel

| | | | Specified | | Order | |
|--------------------------------------|--------|-----|-----------|-----|-----------|--|
| Product | Price | Qty | Amount | Qty | Your calc | |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 1 | \$1.42 | | | |
| | Total | | \$1.42 | | | |

Humanities

You will require your iPad with Keyboard Case for this subject.

| | | Specified | | Order | |
|--------------------------------------|--------|-----------|--------|-------|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 2 | \$2.84 | | |
| | Total | | \$2.84 | | |

French

You will require your iPad with Keyboard Case for this subject. You will also require Non- Bluetooth headphones.

Participate in either Semester 1 OR 2

| | | | Specified | | Order |
|--------------------------------------|--------|--------|-----------|-----|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 1 | \$1.42 | | |
| | Total | \$1.42 | | | |

Japanese

You will require your iPad with Keyboard Case for this subject. You will also require Non- Bluetooth headphones.

Participate in either Semester 1 OR 2

| | | | Specified | | Order | |
|--------------------------------------|--------|-----|-----------|-----|-----------|--|
| Product | Price | Qty | Amount | Qty | Your calc | |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 1 | \$1.42 | | | |
| | Total | | \$1.42 | | | |

Elective: Technologies

Students Choose one for each semester:

- DTM Design Technologies
- DTF Design Technologies Food
- DTT Design Technologies Textiles
- DTI Design Technologies Information

A design journal is provided as part of the SRS.

A fee for weekly cooking is attached to Food . \$65 per semester.

You will require your iPad with Keyboard Case for this subject.

| | | | Specified | | Order |
|---|--------|-----|-----------|-----|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| No additional products are required for this subject. | \$0.00 | 1 | \$0.00 | | |
| | Total | | \$0.00 | | |

Elective: The Arts Dance

You will require your iPad with Keyboard Case for this subject.

You will require device appropriate Headphones.

Dance clothes/sports uniform.

| | | | Specified | | Order |
|------------------------|--------|-----|-----------|-----|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Lecture Pad A4 70 Leaf | \$2.92 | 1 | \$2.92 | | |
| | Total | | \$2.92 | | |

Elective: The Arts Drama

You will require your iPad with Keyboard Case for this subject.

Blacks: leggings/pants and black T-shirt

| | | | Specified | | Order | |
|--------------------------------------|--------|-----|-----------|-----|-----------|--|
| Product | Price | Qty | Amount | Qty | Your calc | |
| Exercise Book A4 96 Pg (with margin) | \$1.42 | 1 | \$1.42 | | | |
| | Total | | \$1.42 | | | |

Elective: The Arts Music

You will require your iPad with Keyboard Case for this subject.

You will require device appropriate Headphones.

| | | | Specified | | Order | |
|--|--------|-----|-----------|-----|-----------|--|
| Product | Price | Qty | Amount | Qty | Your calc | |
| Exercise Book Music A4 Feint & Stave 96 Pge Bell | \$2.19 | 1 | \$2.19 | | | |
| Display Book A4 20 Pocket Assorted | \$1.90 | 1 | \$1.90 | | | |
| | Total | | \$4.09 | | | |

Elective: The Arts Visual Art

You will require your iPad with Keyboard Case for this subject.

| | | Sp | ecified | Order | |
|--------------------------------------|--------|---------|---------|-------|-----------|
| Product | Price | Qty | Amount | Qty | Your calc |
| Visual Art Diary A4 | \$6.47 | 1 | \$6.47 | | |
| Coloured Pencils Micador Basics 12's | \$2.95 | 1 | \$2.95 | | |
| Glue Stick Osmer 40g | \$1.90 | 1 | \$1.90 | | |
| Scissors QSV 165mm RH | \$1.79 | 1 | \$1.79 | | |
| Pencil HB Staedtler Raw Single | \$0.50 | 1 | \$0.50 | | |
| Pencil 2B | \$0.50 | 2 | \$1.00 | | |
| | Total | \$14.61 | | | |

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.